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3. When can you not add or subtract exponents to multiply or
divide powers?

When the bases are not he same.

4. Write each product as a single power.

a) 5° X 54 =5 b) 102 X 10! 0"

0 (=3)3X (=3)® =(-3°  g)216x21¢ a1"
e) (—4)! X (—4)° = (-4)’ f) (313 X 6 o'*
g) 20 x 2% =2 ) (=77 X @ ()
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5. Write each quotient as a power.

45+ 43 =17 b) 87+ 86 =8°

¢ 1510 + 150 = 15" d) (—6)® = (—6)° =(-6)°
212 1 (—10)" _ 6

) 55 - 2 f) (—10)° =(-10)
5 “ —1 5

g) % b h) (=1) = (-1)
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6. a) Evaluate.
i) 3¢+ 34 i) (—4)0 +~ (—4)°
-3 = €Y’

=

b) Use the results of part a. Explain how the
exponent law for the quotient of powers

can be used to verify that a power with
exponent 0 is 1.
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8. Express as a single power.

a) 34 X 3% = 3l b) (—4)° + (—=4)* X (=4)1

P =3 QEIR
|
| £XL 4
0 6" X 6 + 6 d) —scas
& +(®) _ g
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9. a) Express as a single power, then evaluate.
) (=6)! X (=6) = (=6) | ii) (—6)7 + (=6) X (—6)"
e ./}
(_b) T\ (9 _ (—QO x (-6)’
= (o)

- = ()

-
©
- _

b) Explain why changing the order of the
terms in the expressions in part a does
not affect the answer.

The order you multiply or divide
numbers doesn't matter
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10. Simplify, then evaluate.

a) 102 X 102 + 10* b) 10° X 10° — 10°

o tiot |, O - IS
lovo 4 17008 = looovoy — (00O
= 20000 Z cﬁ‘{()oo
¢ 10" —10° X 10° d) 10" + 10% X 10?2
o' — 10 0 + I
100 600000 00p  — |00 00O 00O - 10 A 100b00M

- 6 900 610

G9 000 000 000

e) 10°+ 10% X | f) 0% = 10°

g ry
10" X D |D°

-—
[

b

:|O _—_‘

= (009000
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p )
10" 10% X 10° 10
)_ h = - _  —
Y108 T 10"
= fo® 5
s [o)
= 1000 000 ~ |00 600
. 10” 105
S L o AU 2
|] 10-1->< IDE j) 103 + 10
p] >~
— |0” I—E IO + IO
lo®
— {00 T1I00
z —
= IO —:Qoo
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13. Evaluate.

a) X2 -2 X2 h]?'ZX?}.‘FZZXEJ‘

ls - Ql‘ —53 L ab
= 32-0d -t bY
= -39 T
/
P 3X 3+ d) (=3)8 + (=3)° = (=3 + (=3)’
) 44=3"X3+2 S
Lll _ 3\ -\-&J K’}’ — (3\
> -9
=6 — O +9
= = -1L
) (~21{(=27 + (=2P] + (-2 f) 2426 + 20) - 2#
N [eD) + g () gt
[CD° +X —
oy t 16 o
- o =

g) (=5 + (=52 X (=5)"+ (=5)2 = (=5)

GS) % (9) +(5)
SRS

—_— _|°
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19. Simplity, then evaluate only the expressions
with a positive value. Explain how you know

the sign of each answer without evaluating.

a) (=2)* X (=2)° b) (—2)° X (=2)
. (
Q @
= -3 = -32
qQ (=2 +(-2)

&)

) (—2)8 + (=2)d
D

= L{ = \
e Ej)}jzti; f (_2(3—2%_ |
) X (=2)
- @ -
cay c3’
|
- (—él)l - Q:D
-y = -2

September 29, 2021
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L1aSS HOMEND r’age

4. Write each expression as a product of

pL‘MEl‘S
a) (6 X4) b)(2X5* ¢ [(—2) X 3]
6° x 43 2" x 5 (-2)° x 3°
oC of ovr -
@p | [ L O
d) (25X 4)2 ¢ (11 X3 §) [(=3) X (=2))
052 y 42 11" x 3' (-3)° x (-2)°
ovr or ’5

Gooy (3D )

11
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5. Write each expression as a quotient of

powers.

a) 8+5° b 21+5* o [(—=12)+ (=7
8+ 5 21+ 5 (-12)°: (-7

3 2 4

10 1 27
‘”(3) ‘”( ) ) (lﬂn)
'03 - |a' = (Q?H
3 3* loo*

12
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6. Write as a power.
a) (39 b) (6°)
:38 =69

September 29, 2021

0 (5°)!
:53

13



Day 07_Section 2.4_2.5 Homework_ans.notebook

7. Simplify (292 and (22/)?1. What do you
notice? Explain the results.

(24)2 (22)4
2° 28

September 29, 2021
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8. Write each expression as a product or
quotient of pcm ers.

a) [3 X (=5))

3 x t-S)5

Iy

[FEIN
e

TALN

e) —[(—10) X 3]3

ORI

oY

b) —(2 X 4)°

~@F x @Y

e (@

=
|l .
|
(R R |
[

"

T

+
P

O
E
<

f) (16 + 9)2

= e =@

September 29, 2021

[ x T

l"& 3

15
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1% L_J'lllll_!lll}l wllhl L kJ‘Lt.'lb\JJlUllj Lll% 1l % VORlLLChL% ILs
4

For each expression, state the strategy

you used and why.

2 (3%27 b (-2 x4} o (%) _
3 T

= 6 ||]- -9 = 9
%)

=Ab = KV (-3)

September 29, 2021
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14. Simplify, then evaluate. Show your work.

a) (3&31)2
= @)‘
=

il

b) (46 = 44)2 \
= (-.(‘»

= AS6

0 [(=2)" X (=2)°)2 [d) (106 + 10%)°

o (Sl

= by

= Ubn)s

e) (10°)2 X (10%)°

- 10" x 1o
(: ,onl

- IOOUWDOq%\

h) [(—2)2]° X (-2)°

= L—a)k X (—ﬁ‘)3
- (-a)q
- —sIa \

September 29, 2021
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Copy the solution and correct the errors.

A (B x 2 &G

=¢"

=7 |76 782%%¢ X 3 .
«\(wn} (x 4y H((:3)-
- (30 -
AR~ 4L 65k
J (5;\1: o N XL =
A :9
= 296
=512
S(L) . @ e )= @)
ok -
- 6"‘ = Y096
= 206

1

|0
10 000 000 000

"

)
= ooy

- | alo 000

& (10418 =

September 29, 2021
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16. Simplify, then evaluate each expression.

a) (42X 42 — (54 + 5%)?
-
Y - ¢
1042536 - b3S

= lo Y95

b) (3% + 32)> + (8* X 83)"
< (3')3 + (Sg)o
- @+ ¥

- 4l
= 8

d) (62 X 6°)F + (26 + 24)°
) + Y
@L + (3L>

4, 656+ Ct

= Y Fdo

f) (10° + 10%)2 + (3% + 31)
. |
= (1) +( V)

= |o° + 3

= |00 o000 + 65("

= |oot Sb6l

19
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17. Simplify, then evaluate each e\plesqon
a) [(=2P X (=20 — [(=3)° = (=3)°]

b) [(=2)° + (=2)2* = [(=3)* X (=3)*)?
L L—n\s 2 () - [@ﬂ“ ey )
- €° - (Y - () - (Y
- 1o - (S
- o Q) g = stend)
= |olIs
= -5904s
0 [(=20 X (=22 + [(-3)* + (—3)2 d) [(— =22+ [(=3) X (—3)4)?
L))+ Tey)? = [&9-)1 + C@)]
S
) = &) 63
- 163y + 9 - 4 + q
= Jo 3} | = 3
o) (=27 + (Z2PP = [(=3° = (=3 ) [(=2P X (=27 + [(=3) X (=3)

[( a)) + [(3)‘]
)y + )

- [0ay + S9044q

N

- -5 = (0 O3

20
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